MATH 301.2 (Term 121)
Quiz 1 (Sects. 9.8, 9.9) Duration: 20mn

Name: ID number:

1.)(5pts)Evaluate [.(z+y)dz+ydy, where C is the triangle with vertices (—1.0), (-1,1),(1,1),
oriented in the counterclockwise direction.

2.)(5pts)Show that F(z,y) = (zy+ cos y)i+ (32? — zsiny)T is a conservative field and
find its potential. Then, evaluate f(glu? F.dr.
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MATH 301.3 (Term 121)

Quiz 1 (Sects. 9.8, 9.9)

Name:

Duration: 20mn

ID number:

1.)(5pts)Evaluate Je(z + y)dz + ydy, where C is the curve given by z = 2cost and

y=2sint for 0 <t <.

2.)(5pts)Show that fc(mzl) dz + (32* + y*)dy is independent of path. Then,

evaluate the integral alo

any path from (0,0) to (1,2).

4) é(xﬁ)clﬁg Yy < Si;(‘”&*"'“a(‘”’"‘}l"

Nothode < P 3 L)
w G ")_ﬁ_ e y
:_.‘_Lls_g,:’l_cli* d 9_‘&(7(?) Tt ‘
' : ; e .
.3 O plad = 3™
-::.-(«J (=@ ¥ 3 : & ) b‘i%C
a :ﬂq,{,' v F)=0" ( Ya)= %
el Ny . YW
— g (th‘: %L\Q -5(14:‘2;_ 2C
= -




